
ASSEMBLY & INSTRUCTION MANUAL

INcba198V01_US_CA

921-479

IMPORTANT, RETAIN FOR FUTURE REFERENCE: READ CAREFULLY



120



120



A  1 B  1 C  1

D  1 E  1

G  1 H  1 I  5

F  1

M6*20

J  3

M6*20

K  4

M6*25

L  8

P  1

M6*18

M   4

N   4
1

O   4
1

Q  1



F  1

G  1

H  1

I  5

EN: The hydraulic cylinder has a cap on the top of it that must 
       be removed prior toassembly
FR: Le cylindre hydraulique a un bouchon sur le dessus qui 
       doit être retiré avant le montage.

A  1

B  1

J  3

M6*20

02

01

Q



O

N

B

A

E 1

K 4

C 1

M 4

M6*18

M6*20

C

D

03

04

E

L 8

N 4

D 1

M6*25

O 4

L

L



05


